DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

DIVISION WITH 1 TO 10 1;;1 Soomer |
151 6003.2 -7 = 166 2720 +1=
152) 13.538 = 2 = 167) —28.344 = 3 =
153 —24.47 =10 = 8) —47.8 +8 =
15 0425 = 1 = 169 3.133 =+ 1=
155 —6018.6 =7 = 170) —10.848 =4 =
156) —181.26 =2 = 171 2637.6 = 8 =
157) —98.779 = 3 = 172) 1244.8 = 8 =
158 H7174 + 6 = 9850 + 2 =
159) 7974 = 1 = 7). — 18458 +~ 2 =
160) 1206.6 = 3 = 175) —478.66 = 7 =
161) —922644 = 6 = 176)  23.574 =6 =
162) 26.92 + 8 = 1917 =2 =
163 7826.4 + 9 = 178 39235 + 7 =
161 (0.123 =1 = 179) —0.162 = 3 =
165) 32877 =— 9 = 180) —17340 + 10 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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